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- pH = pka -loay(1

Herluson-Hasselbach equation

Eturales A mixture of 0.2m Acetic ache

and 0.3m Sodium acetate es

giren to you. Calculate thepH

of the system of the pktof

acetic acid is 4.76
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pH = pha tlog([reeticAcidy

0.2mi

pH= 4.76 tlov (0.5ml

- pH = 9.76 + 0.67

(pH=5.43 }.

- Exuyle2 The pH of a solution of lactic

acid and lactate is 4.30,

Calculate the pka of lactic acid

when the countrations of lactic acid

and lnctate ue 0.024 and 007314

respectively .

HA = lacticand otokatlon C

t = lastate pka=plt-lay/Ray
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